
Двухраундовый турнир по решению шахматных задач  (#2; #n)

Ответы (1-й тур)
№ Задание Решение

№1

XIIIIIIIIY
9-+-+-+-mK0
9+-+-+psN-0
9-+-+-tRp+0
9+-+-+-mk-0
9-+-zP-+ptR0
9+-+-+-vL-0
9-+-+-+-+0
9+-+-+-+-0
xiiiiiiiiy

#2    6+4    С+

№1. С.Л. Крейнин [1929 г.]

1.Rh6! zz (5)
1…K:h6 2.Lf4# 
1...K:f6 2.Lh4#

№2

XIIIIIIIIY
9-+-+-+-+0
9+-+L+-+-0
9-+-+P+-+0
9+-sNN+-+-0
9-+k+-+-+0
9+-+-+-+-0
9-+-+-wQ-+0
9+K+-+-+-0
xiiiiiiiiy

#2    6+1    С+

№2. Д.М. Шамровский  [1928 г.]

1.Nb3! zz (5)
1…K:b3 2.Qa2# 
1...Kd3 2.Qc2#
1...K:d5 2.Qd4#

№3

XIIIIIIIIY
9-+-+-+-+0
9+-zpL+-+-0
9-+-zP-+-+0
9+-+k+-+-0
9K+-+-+-+0
9+-+-wQ-+-0
9-sN-+-+-+0
9+-+-+-+-0
xiiiiiiiiy

#2    5+2    С+

№3. И.И. Гегельский  [1938 г.]

1.Nc4! zz (5)
1…c6 2.Le6#
1...c5 2.Qd3# 
1...c:d6 2.Nb6# 
1...K:c4 2.Le6#
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